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Discussion

A text proposal for section 6.5.3 in TS36.141 (“Time alignment between transmitter branches”) is attached. The baseline text is taken from the corresponding section in TS25.141 [1] with modifications below considering the corresponding requirement in TS36.104 [2]:

· Since the test signals for this test have not yet been finalized, second step in the test procedure in section 6.5.3.4.1 refers to the test signal as [t.b.d.].
· Some of the key parameters in the second step of the test procedure in section 6.5.3.4.2 are in square brackets which would need further investigation.
Proposal

A text proposal for section 6.5.3 in TS36.141 (“Time alignment between transmitter branches”) is attached and it is proposed to apply the text for the specification.
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6.5.3
Time alignment between transmitter branches

6.5.3.1
Definition and applicability

In Tx Diversity or spatial multiplexing, signals are transmitted from two or more antennas. These signals shall be aligned. The time alignment error in Tx Diversity and spatial multiplexing is specified as the delay between the signals from two antennas at the antenna ports. 

This test is only applicable for eNode B supporting TX diversity or spatial multiplexing transmission.

6.5.3.2
Minimum Requirement

The minimum requirement is in TS 36.104 [2] subclause 6.5.3.
6.5.3.3
Test Purpose

To verify that the timing alignment error in TX diversity or spatial multiplexing is within the limit specified in 6.5.3.2.

6.5.3.4
Method of Test

6.5.3.4.1
Initial Conditions
Test environment: 
normal; see Annex D.2.

RF channels to be tested: 

M; see subclause 4.7.

Refer to annex K.1.5 for a functional block diagram of the test set-up.

1)
Connect two base station RF antenna ports to the measurement equipment according to figure K.1-5. If available terminate the other unused antenna ports.
2)
Set the base station to transmit [t.b.d] using TX diversity or spatial multiplexing.

3)
Set BS frequency.

6.5.3.4.2
Procedure

1)
Start BS transmission at the manufacturer’s specified maximum output power.

2)
Measure the time alignment error between the [reference symbols] on the antenna port 1 and the [reference symbols] on the antenna port 2.
3)
Repeat the measurement for any other possible configuration of 2 transmit antennas.
6.5.3.5
Test Requirement 

The time alignment error shall be less than [t.b.d.].

NOTE: 
If the above Test Requirement differs from the Minimum Requirement then the Test Tolerance applied for this test is non-zero. The Test Tolerance for this test is defined in Annex I and the explanation of how the Minimum Requirement has been relaxed by the Test Tolerance is given in Annex G.
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